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feel that there is more than one correct response, mark the response which you consider the best. In any case, choose
ONLY ONE response for each item. : 0 Lgn
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i uﬂwmﬂﬁtﬁm,quﬂwam

gagwwmwm,aﬁwﬂ mﬁtmt.?hsﬁwnﬂawahwﬁwsﬁﬁq 1

2. zfqmm@%OMRW—Wﬁ,aﬁHW%ﬂHWSﬂIHﬁWWWﬁ@A, B, C 41 D #, ¥4 ¥
@ﬁmﬁﬁﬁmﬁ@ﬁ%ﬂﬁﬂtmwaﬂﬁtﬂmﬂmﬁ% | faredt oft R 1 /e 1 feafa
ﬁaﬂz—mﬁmmﬁmmn .

3. mwwmﬁmmmﬁMMwm% | gheor gl R R FB TE |

qaqwgﬁaﬂﬁlwmiﬂ(m)mmi lnﬁﬁmﬁﬁﬁmﬁiﬁiﬁfﬁwt | Yo EiY B IR Wt
fau M ¥ Jﬁﬁﬁ@g@mﬁ?ﬁ,ﬁﬁmw—mmmmmt | afe Tgen! Qe o fR O H

ﬁmﬁﬁmw_m:mm%mmwﬂmw%l
o ftsifer A # | I g T P 2fe | SR I A F

5, ATTHI sttt S

Wﬁﬁmaﬁmﬁammﬁu _ _
p mﬁw;-a;mamaﬁuﬁi | gt wATYT U 3 & § ammtmwa\uﬁ(&zs)aﬁmmm I
, Wgﬁaﬂ%ﬁﬂﬂwﬂﬁ%mm-mmmm%aﬁ,mm“mqﬁamﬁﬁa

”. e v T AT
aa&,ﬁg;;gaﬂ@ﬁﬁtﬂlm-mﬁ&%i !
wwmﬁm—mﬁqﬁﬁmwm%mwmm—mmﬁﬁﬁ|
gﬁaﬂq&m—maﬁwmﬂaﬂﬁaﬁﬂﬁagqﬁt.
o, TR T F ¥ aig | 4o & |
9. F ———ambiguity in t Tation of any question, English i
= of any am iguity in ranslation y question, Eng ish version shall be treated as final.
e ' ﬁﬁm’?mﬂmaﬁ@ﬁlﬁ’ ST HEOT &1 3T | SR :

. e 3 A ,
|

Downloaded from www.cclchapter.com

»



WT

/l/ Which of the following represents such peopl

. on di38
ven Post
n the B'7° ¢ and
Q'@‘ Each of the following questions given below is basc]ﬁogpital gmploY

The diagram show : , s
s three circles each representing Doctors, Experien® :
Graduate. " __ﬁ_ %

. ¥
9T W' 1-2 : e s wew & amgf ww snenfya ¥ Nrrfﬂlﬂ"r“"‘ﬁﬂaﬂa
ST SrerET AT T Ewwe W & ¥ |

Sp——

Y

P

Experienced Hospital )
Employee

(a@qﬁmﬁtmﬂﬂfﬂ)
o (B

Post Graduate

(ErTara)

Doctors

(Fafreas)

i ees but aré
e who are Experienced Hospital Employ

e .
(D) F and C Only Y2
(C) A and C Only ¥ 3
- 'mﬁﬁﬁzmtﬁﬁﬂiﬁjﬁ’fa‘m'“*ﬂa'i'
ﬁﬂﬁﬁaﬂﬂm@m & %___—————fc
(A) ﬂn%Aamc 0y i F ot C
oy fak A

f’
ple who are Doctors a5 well as Post Graduate :

: ts such peo
Which of the following represen » 8) BandF Only

/? (A) D Oniy | (D) B Only .
_grg EaEEl ?
(c) E Only ﬁmtaﬂ%faﬁmﬁﬁmam i
Prey ¥ @ T Caul BY
(A) fak D D) fb B
fa®k E
(C) m left and covers 20 m, then turns right and covers 20 m,
ing West 20€5 10 moi::d:: what distance the man is from starting point ?
3 A man fa: right and covers . @ W
et o (D) 50m

- i vt gt 20 W T ¥, et i ow qw 20 H wrwwn
© A7 o 10T e i 5 3 P T w7

e e H sk ]
e @l T 5 b (B) 20 W
T, |
@A) 307 o) 0 'za—f—-qu’r

9
t 1;\o}lﬁ
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In a certain code - \REASONIN

9)

(A) JRVBRMMKS

minute hand wil

(B)

in that code ? (B)
(D)

G’ is written as ‘TBFSMFMGP". How is *AUDITIONS:
Written

CRRVMMRD
SFTUFMHHM

(C) JEVBRRMMK ey g )
O i g2 w3 ‘REASONING' @ TBFSMFMGP" i T ¥ i 1 3 AUDITIONS;
1 & R s f (B) CRRVMMRD 1 o™ .4y
(A) JRVBRMMKS? ) SFTURMHHM — ~1 <2 <z
©) JEVBRRMMK X d y < — ¥
. descending order, within th
5 If all the digits in the number 7281.95346 are arri}_lﬂgedc clln" escending ithin *c !HUmber
the position of how many digits will remai uncBangOne' s
(A) None {D; Two - On
(C) Three o 'aaﬂuaﬁsmmraa’fﬂ'@‘lﬂ" 3w & WA
aﬁﬂmmwme%aﬁmﬁaﬁaﬂg‘“ﬁ ' \ l’ 1
srfeafda @M 7 o 7 ¢y389] 2
A @ T S At LYY
©r @ (D) EDCEI ALRO
: | _ e
/6/ What should be in the place of Question mark (?) 17 the following letter seri€s
AC. FH, KM, PR, ()
Ance ®). XV
\Y
E’é} LU D) UW 4 rS
ﬁqmﬁiuﬁm(?mmﬁﬂmm? A +S
AC. FH, KM, PR, ?
(A) TV Eg; ﬁ\‘:{ y3
() WU 1 5
@’ Statement : Vv
p=N5=D & G<B= J e
Conclusion : . - ",S
m P>
anp G<l —— +y3 8
‘A) Only Conclusion I is true. (B) Only Conclus.lon I is true.
(C) Either Conclusion 1 or II is true. (X Both Conclusions I and II are true.
&g
p=N>D2G<B=J
a1 P>G
an G<lJ
(A) fs Framd 1 T8 ¥ (B) furts P 1l 8 ¥ |
(C) ar @ Pred [ 1 &@ & | (D) frepd [ Td 11 247 76 € |
At 12:30 the hour hand of a clock faces North and the minute hand faces South. At 2:45 the
| be in which direction ?

West

(A) North - West
(C) South - East (D) East
|2z3gaaq-qsu£rﬂﬂiﬁq{.gmﬁﬁamhzaﬂ@mahaﬂrt | 2:45 T e A GE
P faqm & g1 7
(©) o994 ) — (D) @ o 4V
|
212.B 3 A
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10

e re is the ratio
of st i e‘quals 1o four circles and three circles equal to four diamonds. then what is th
ar to diamond ?

;%) Va3 B) 3:4 (C) 3:16 (D) 16:3 ' 7
(A)m?ma?mw‘ﬁ'tmmiﬁ%mwmt_maﬂmﬂ"fﬁ@aw :
B (B) 3:4 (C) 3:16 (D) 16:3
lfBEAT:B"n*EG—?nnd RUST = 96— 8 7, then how will you code BURST ?

W) 25-0.-9-§-7 B) 25-9-6-8-17
() "25-9-3-7-6 (D) 25-6-9-8-7
R BEAT = 25 — 22 _ 26 _ 74 RUST = 9— 6 87, a1 o7 BURST &1 & 2 01 7
(A) 25-22_-9_3g_3 B) 25-9-6-8-7
© 25-9-8-7_¢ (D) 25-6-9-8-7

If the number in the circle indicates the number of persons, then how many youth graduates are

there ?

R a0 & & wen afwd @ won v s &, @ e ga e ¥ 7

A
Graduates £

(gam) ()
1Al
Employed (Fraife)
(A) 20 (B) 30 (C) 40 (D) 50
i i . After 12 years, the age of the mother
her today is thrice that of her daughter. -

ﬂ'w ;Ectzfi':c T}?z:t zrf her ydaughlcr, the present age of the daughter is -
' ars (B) 14 years (C) 16 years (D) 18 years
el lzagi,,mammaaﬁmgm :E_aﬂﬁqﬂﬁmﬁmmwﬁmml
s Ardl $ie
o o - (B) 14 =d () 16 (D) 18 ad
(A) 12

s and culs one half into smaller pieces of equal size.

< il ht, If she has seven pieces of the cake in all

uts : _
s is twently grams in Welg

Each of the small Piccessllhe original cake ?
with her, how heavy W& 240 grams (D) 280 grams

B) I o s T a8 AT STOTC & B2 ot e
(A) 120 gram® 21 o ol @ B & s ord W BT ,

@mﬂwﬁﬂggﬁi{mmmtmﬁwa;qmeﬁaiwmgﬂjr_.a’l{aammm
¥ |82 gHel A e
e a7 140 T (C) 240 T

120 7™ (B)
" Vg E]JEI

(D) , 280 7™

¢

212 B s e
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){ Pointing towards a boy Shahrukh said ‘he is the son of the onl
on

How is that boy related to Shahrukh ? y son of my grandfathe,:
0 Cousin (B) Brother |
(C) Unch‘: ; (D) Brother-in-law
i 6 8 0 0 4TSS 5 e
3 foa A (B)/ﬂ'l'{ A0 A =L
((2; :1'-:? (D) a—ﬁ-g {\ o t\“ﬁ '.“‘5
ind the Odd wOl'd out.

g E(:;:) Hate (B) Love ()" g S
g g7 1 T A a8 . @ (D) T
A) T ® :

then turns left and walks 3 kms. Then again tums

i rth, i
y A starts from a point and walks 5 kS D000 T 1 which he is going oY

ks 5 kms. Point out the direction

left a“: ‘:;1 B) South
(A) No (D) West | .
(& Tas oo, fo el o e 3 fL S

s fean ¥ 5 fl
{ﬁq;ﬁf@ﬁﬁ%ﬁfﬁsﬁtm% |Wﬂmﬁmﬁmmt@ﬁﬁ!aﬂﬁrﬁ ?U\(x

(B) &
(A, ¥R D) R rE?o' rj"l"—{

€ : )
Y
F-216:: L%
@ (A) 1723 (B) 1728 (©) 1700 (D) 1600 .....Ll /]
Find the odd word out F ‘ \
)’/ o 5 . (B) Moon - Planets” { O ﬂ

(A) Sky - Stars

(C) Stadium - Players
fquy M 9= B T #frd
—

(A) amaidl ~ ar s

(D) University - Students

(B) T - TE

(C) Sfeaq - faaé (D) fasafmamea — fenedt
197 In the following series some of the letters are missing. Choose the correct option to complete
the series.
DﬂF_DEEﬂD_EF_DE_F :
(A) EFFDED (B) EFFDDF
(C) EFFDFE (D) EEFFDE

Pt it % g AT A ¥ |y @ gt e 3 ford Wl e @ T AR
D F_DEE_D_EF_DE_F

(k) ERFOED (B) EFFDDF

(C) EFEDFE () EEFFDE

oup EFDE DEF :
= N
i [Next Page >

DEFERAR
I},()Wnloacfedfrom www.cclchapter.com




Dil‘ections

Iltems o not haye Hindi Version.

R 6 (8) wasion (8. 20 ¥ 25) ¥ R Py
Prrfefaa 6 9y

ST T R

Sy

A e

‘210/ A hostile sityatjon resulting from opposing views!
(B)
(D)

(A) brain-storming

©)

consensus

The person is awarded is a soldier

(A)  Whom, Whose

(B)
(C)  Who, Whose (D)
327 The word that describes an action is
(A) an adjective (B)
(C) an exclamation (D)
?/ Communication includes —
(4 Language clarity (B)

(C) Body language

(D)

U A
(A)
(C) Adjective

Noun

(B)
(D)

A group technique used to develop Mmany ideas

(A) conﬂic(q:{{
(©)

(B)

compromise (D)

212 B 6
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for the following 6 (six) questions no. 20 to 25 :

i fore these
i . .ation ,Skills there
'8 6 questions are based on the Interpersonal & Communicatio

connects phl‘ases, clauses or sentences.

BTy

= igif & fem
Cmﬁm%wﬁmﬁmtlm:ﬁuﬁsﬁmﬁm

compromise ¢

conflict ‘£,

father is a farmer.
Whose, Who
Whose, Whom

an interjection

an adverb

Facial expressions

All of the above

Conjunction

Adverb

in a relatively short time,

consensus

brain-storming



:ons for the following 6 (six) questions no. 26 to 31 ;

¥ forg e ¢

(3) She __—— :

n.
(a) used 0 (b) dare t0 (c) ought t0 (d) need 10

, (2)Hd), (3)-(a), (4)-(b)
(A) () @) i}

©) 1) 2)-(b), 3)-()

the term which means

y/ The correct spelling for o Qi GU{‘V
?é; (l-‘):::;r (D) Odour a e réc —
2 The plural form of the word ‘genius’ s 5';;) o O o) der
Eg z:::"“s (D) geniusses
Mo h)

3 The synonym of the word ‘ff_ll_liyJIs

(A) dignity
(C) smart

(B) obedience
(D) handsome

n and fill in the blank.

food and medicine among the refugees.
(B) dislributedﬁ,/n\ I
(D) separate

QoL

3L Choose the most appropriate optiol
A relief tcam was sent 10
(A) contribute A
(©) sanction

212 B

¢, mpA ‘r? ¢
|
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tions are based on the mﬂl & Cwm Skills therefore these

y (1)), ), @3)-(b), @@
@) (1)), @ 3)-(d), (9)-©)




@ Match the terms with the meanings given.

(1) Misanthrope (a) Fear of strangers

(2)  Polyglot (b) Spending excess mont’j)’

(3)  Xenophobia (c) Person hates all mankind

(4)  Squandermania (d) Person speaks many Janguages
Pt o @ Rrem R ol % g AR L

(1) P (a) ol @ W

(2) vifwere (b) feoperad! an

(3) ©) o A & e
(4) TP (d) ¢ v

3)-(b). (4)-(d)

-(a), (2)-(c),
(B) (1)-(a) 310, (@)

(A)  (1)-(c), (2)-(d), (3)-(a), (4)-(b)
®) (1)), 2@

(€)  (1)-(b). (2)-(c), (3)-(d), (4)-(a)

Match the following terms :
Study of atmospHeré climate

(1) Palaeontology (a)
(2)  Ornithology (b) Study of insects
(3) Entomology (c) Study of the foss&
(4) Meteorology (d) Study of birds o0
ey vdY &1 frem @i ™
(1) s (a) TTGAVEH TG BT HEAAT
(2) g (b) @I & AT
(3) T (c) irarst @ aea
(4) e (d) uftEi & wead
(A) (D). 2)-d), B)-b), @@ (B) Qd). 2:(b), 3)-(c). (4)-(a)
(€) (1)), (2)-(b), B)-(c), (4)-(d) (D) (?\]I']-(b)' (2)-(c), (3)-(d), (4)-(a)

followi ok

atch the following :
}/ ?;l )  Ophthalmologist (a) Who treats kidneg%iseases
(2) Neonatologist (b) One who treats disease of the
nervous system
(3) Nephrologist (c) One who treats cril'ical infants
(4) Neurologist (d) One who treats vé.:on problem
Ffa -
?:?mar‘z::’mﬁﬂﬂ (2) ﬂﬁ’fﬁﬁ"ﬁ%ﬂ%.ﬁﬁﬁmtl
@ Wm— 7w it a7 B A e e &
@) e A0 T i T Rafa g get @1 frm
r Fa ¥ | ™
@ 7 ‘/ (d) @& o gft wEdh TR @& PR et
(A) (1)-(d). @), (3)-(a), (H)-(b) (g) (: )-(a), (:';’)-(d), (3)-(b), (4)-(c)
© (1)-(b). (2)-(c), (3)-(a), (4)-(d) (D) (1)-(0), (2)-(a), (3)-(b), (4)-(d)
2B 8
212_
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T is i i i
the sister of Y. Y is married to L. L is the onl
o LA only son of K.

Q 35 to 37 : B is mother of T

r 3

K is the daughter © A & 1 ¢

. . g8
““‘"“”W*'@J*th:ww L

T::e,gﬁi K2
o is T related 0 L7 5 ~ g
S
e asial ~ @'ﬁ”

H N
Cousin < -
(€) Sister-in-law N (D) Can't say
1. L @ fem A gRat !
@A) = 0 (B) @I K XTTTA
©) @ o (D) @1 TE S qhdl _ ::,,.-'”{
' ? =t [ ﬁr\ ¥y
}g How 1;1 oBth::lated to L7 @ e e . g
Ié: Sister - in - 1aW (D) Grandmother <
B. L & fow TE gafta ¥ 7
A) o (B) ™
(D) &

(@ N
ther of X, the wis X related to P 7
it HO (B) Grandson

3./1/ If K is the
(A) Granddaughter ;
(C) Daughter N 3 (D) Can't say
aﬁl(,)(aﬁrnmt.au X,P@mmmfﬁa% ?
(A) ardyard b4 (B) m@m
(C) T (D) el T W FH
statements followed by two conclusion numbered

Q.38t040:In each question bel .
[ and I1. You have to tak i be true even if they seem tO be at variance with
Read all the conclusions and then decide which of the given conclusions

commonly known facts.
logically follows from the given statement, disregarding commonly known fact :
uﬁ%mz\ﬁmﬁ#‘thﬁuﬁ&nﬁ% | S9! TH

’%‘*‘"‘”i‘“’%ﬁw POt
3 gt B W ' 71 9 | g & ufsd ol 7@ 7 fifem B @ '
ﬁﬁmmmféﬁn&aﬁwaﬁaméw,mmwﬁﬁmg,mﬁtﬁm

}V Statements : N
No beggar is poor.
Some rich are beggar.
All classes are poor. ™

Conclusions :
I All rich being poor is a possibility.
" I(I) | All I:;cggars being classes is a possibility.
) Only conclusion | follows. (B) Onl i
= : y conclusion 11 fi
(C) Either conclusion | or 1l follows. (D) Neither conclusion 10111?:\’ Isl. follo
WS.

a4 N
a1 o fugs Tha T 4

il

e T X o
‘ WWB‘%@W
11 “‘“ﬁ‘ﬂﬁﬂ‘isﬁiﬁiﬁmtﬁl

(A) fadh Fread | orgaen @ & |
(B) fud frend 11
() ar @ Frewd | A 1l T wTn ¥ o (D) 7 dt Fa “mmgﬁt
HFE |

212 B
g 9
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fyStatemems :

Some Kartik are Shyam,
Some Ajit are Sujit.

All Syjit are Shyam,
Conclusions .

1
Il
(A)  Only

All Kartik being Sujit is a possibility.
Some Shyam are not Ajit is a possibility.

b Y conclusion 1 follows, (B) Only conclusion II follows.
) Either conclusion For 11 follows, (D) Neither conclusion I nor II follows.
HYF
I8 F1fod, o ¥ Pl
TS sivre, ghwa ¥ @’
wh g, gy s (D
e - '

I Hﬁwﬁmaﬁgﬁama&mtl
I 3% s & sfra o3 & s w6 &
(A) fib Frepd | s sean & (B) fuk frewd 11 srgaor wrar ¥
©) =& fresd [ 41 11 srgaor sear & (D) 7 Frewd | 7 & 1 srgeor wean &

50 Statements :
No 90s are 80s.
Some 90s are 40s.
All 80s are 70s.
Conclusions :
I All 80 being 40 is a possibility.
11 Some 70s are not 90s.

(A) Conclusion I follows. (B)  Only conclusion 1 follows
(C) Either conclusion I or II follows. (D) Neither conclusion | nor |t follows
Haq
g 1 90, 80 T ¥ W
75 90,40 ¥ |
avr 80, 70 ¥ |
frred :

: atﬂ80.40mﬂmt|
I §U70‘9{)1{ﬁfl
(A) ﬂ‘*m'mm:mu (g) o 1l s e
© ar @ Pread 1 an 11 T ©) ““Wlwﬁummtl

10
-
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Find the minimum number of straight line requi
E}LIIrcd to make gi
given figure.

.y

2

yr

i/lf cloud is called white, white is called

aqga@ﬁrwﬁ%iﬁlﬁﬁtﬁ%maﬁWMWﬁmﬁn

A 9 o b8 ® 12 ©) 15 O) 16

Find the number of triangles in the given figure.

4 o & BrI & wen T Hes |

(A) 3 (B) 6 (c) 8 (D) 10
n a place of (M7

owing element should come i
?

Which of the foll
ﬁwﬁﬁaﬁ*—rmaﬁmﬂ .

qetaE (7) & ®WH T

AB3 CE6 FI10 JN15?
(A) OT20 ") TO2I () OT2I ;| © TS21
Study the following and answer correctly.
Statements : ) ag (@ Eéo‘ L

Some Mangoes are Bananas. 6 X7

Some Bananas are Apples. M 473
Conclusions : /

I Some Apples being Mangoes is 2 possibility. O AY

I No Apple is a Mango. *5 <
(A) Only Conclusion I follows. ®) Only Conclusion II follows o

1 follows. (D) Neither Conclusion I nor I follows.

(C) Either Conclusion I or

ﬁﬁwmaﬁﬁﬂmv&aﬂﬁml
Hdq

o wtr P gwffiﬂ'ﬁr"qw
i gsﬁx‘fa?rms’ﬁaﬁﬂﬁmtl

1 Fé o &a, oA T E

(A) fars o | g BT €
(C) mamlmllmmh

foramd

(D) qa‘[m]qﬁ”"ﬂ@;;’{mil

rain, rain i
, rain is called green, green is called air

air is called blue and blue is called water, where will the birds fly ?

(A) Air
(C) White (D) Blue
o we @E WY, §he @ a9 FE A T B FW I M, ET A EA
. HE T,

ofy «Ed

Wﬁﬁmmm@ﬂmﬁmﬁmm.ﬁﬂﬁﬁﬁﬁ?

(A) ®al (B) anm-
(D) ren

() &
e ad

&PQWnIQEHed Ergr(nmmcd[@ﬂgbmlcgh

t al



. the squarc of the middle e
@ If the sum of three consecutive numbers i 15, what 15
(A) 16 ) 25 dctenﬂme
(C) 36 @) Can nOtgmr
“ﬁﬁ?mmﬁﬂmlsﬁ,ﬁwmﬂ 2:5?'“'
(A) 16 (B) _ o
© 36 o) P P
47 Fill up the following
PENCIL : GRAPHITE : : 3 . -
(A) Pen : Refill (B) House * Bricks
(C) Car: Steel (D) Dress : Wwool
= G| iﬁ aﬁﬁﬂ'& |
Afge ; THES - : .
(A) T : frae B) T : £
(C) @ :®E D) ¥
/46/ 3y 7T 2 '8
T 3 4
\ & I
9 8 % ' - L Q
126 168 216
(A) 8 ®) 3
© ¢ (D) 36
M i : ’
9/ Pu’v(;ng ? ondays are there I & P2 rticular month of a particular year, if the month ends of
A) 4 B) 5
© 3 (D) Can not be "
af&ml’l‘*\ﬂW@ﬂﬂmﬂ,eﬁ@wﬂ%mqﬁ%ﬁﬁﬂ?eﬁﬁedﬁ
o) 2 5 _

A sum of Rs. 1750 is divided amongst A, B, C and D such that

. B® re= B’ -
re . S sha S share : C’s share = C’s share : D’S Share 3
4 i

A’s sha
How much is C’s shar® ?
vs.1':'5027:?:A.e..t::coi‘!'flbav;ii:,-‘,.wmlr‘ﬁ_aﬁm%:ﬂ‘s
Aﬂm:Bmm:Bmm:Cmm=Caﬂw-D 3‘ %‘2&}
D&y = = n
cm:r:oﬁﬂam%? 1 %‘“‘
(A) s ;
88 i ,
© 28 sk D) 216 %“q”v s
e ” 2 =gty vy
: & w D!
A Ngext Page

SGI6 EH& dereeom ey
ﬁ'u—c.;



51

52

55

_2024. find n and x.
If "C, =126 and "P. =302

; Hfod |
i .,6@-;"1{‘;302431,31"@.\%‘11?%

o B) 8 4
@ 73 D) 94

3
i | /hr. 1f he walks with a

over a certain distance at a speed of 6 km/hr.

o5 50 minutes to € o tance In__—
A man takes vers the 3 '
speed of 10 km/h: e B) 20 minutes
A) 10 minutes (D) 40 minutes

as"fSOﬁmzmrawm% | gfz @8 10 fedvaa

© 30 minutes

ﬁ«ﬂmﬂnﬁﬁw@ﬁgﬁmﬂ:ﬁ o sof
. Ay & e & G a8 g TE o
i (B) 2
s 38 (D) 40 fiFe
©) 30 e

4

Which is the Jargest : ﬁ, %, 2/-8-, Jg ?

J’i,%,%,%gﬁﬁaﬂ?wﬁw%?

)y 2 ® B
(A
©) B o 5

age of 14 students is 14 years. If the age of the teacher is added the average increase
The average

by 1. What is the age of the teacher ?

(A) 32 years (B) 30 years

(C) 28 years (D) 29 years

14f%r:nﬁh’fa?rmml4a&t | afy e & org Wi & wdt ¥, A oftwd | & @ i ¥
for® & og FE 7

(A) 327 (B) 30 =

(c) 28 a4 (D) 29 a§

18 people can do a work in 45 days. o complete the work in 30 days, how many people would
be required ?

o e ot @ B 45 R A w wa ¥ | o @ 30 R A qu e g P P

wga B) 21
o (D) 45

212 B _ 13
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56

o i half of the a
i f:":z P e~ently one-third of the age of his father. After 7 years he will be 8
I. Find the present age of the son.

(A) 2 years

B 15 years
© L

(D) 7 years
% BT oy ot e g ) e ot 17 7 5 e SR 9 Y A |

B amehy
BN | g o Y T B | |
(A) 1 f
) R @B) 1574
C
©) 10 =% (D) 778
57 : . .
Which option contains the fractions in ascending order ?
B § fawea ¥ e’ omid ww & & 7
(A) _I.I_EEi 911131_8._
12°17°23° 13 ® 3121723
11 18 9 13 9 13 18 11
© ZwEn ®) BiIrse
58 A person has some hens and some cows. The ratio of number of heads and number of legs is
18:43. Find the number of hens, if the number of heads is 72.
ue i % o B g od 38 T ¥ 1 R @ e oft 4 9 wem r orqu 18:43 % |
afy el & g 72 ¥, @ g B wem T AR |
(A) S8 (B) 60
(C) 56 k) e |
9 A tankis normally filled in 6 hours but ta-kes . hOler' longer to fill because of a leak in its
5 bottom. If the tank is full, then the leak will empty it in how much time ?
B
(A) 20hr (B) 12 hr
(D) 15 hr
o) 180 .
mﬁqﬁﬂmm:6ﬁmtﬁmﬁﬂmmﬁmﬁmﬁ4ﬁmwi'
gmmmﬁ,mmﬁmm“mm ?
o (B) 12 "y
20
(A) (D) 15 wy
gel
© ' -
212 B |
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60 Which year had the highest percent increase

61

62

21

ion (60-61) : Study the following graph to answer the given questions :
irection - .
D: ion of 4 company (in lakh units) over the given years.
produc

#fa
okl (60-61) . my el ¥ I ¥ g PreafaR e A oA

ﬂmaﬁ%ﬁaﬂﬁwtﬁmm(mwﬁﬁ)

units in lakh / TwEal @ H

in production over the previous year ?
‘ i gfe 88 7
2 § ad § saed ¥ IAT
frme g @1 FOEl e
(D) 1997

(A) 2000
(C) 2002

ge production (in lakhs) for the given years 2

What is the approximate avera ?
Fa&n&aﬂtmmm:ﬁrxﬁﬂ(ﬁr@ﬂ)mt .

18 (B) 185
- 19 (D) 20
(C)

ins. 220 coins in all and the total amount
i is ice and 1 Rs. coins. There are 22 : !
Abag conu{m;? Ip ;[;bﬁ'fi?“f:s:rc thrice as many | Rs. coins as there are 25 paise coins, then
in the bag is Rs. 10U : o
what is the number of 50 paise coins ?

‘ # g 220 faad ¥ qur &0 F o @4 o 160
- 5oﬁﬂqa|m&&smﬁﬁtlaﬂ . .
?ﬁi@%ﬁﬁ%ﬁﬂ%fﬁaﬁm%wﬁ,msoﬂﬂﬂ:ﬁma&ﬁﬁmmt ?
|

0 (B) 40
6

N (D) 80
©) 120

&
2 B
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63

64

65

When running in the sam,

Two traj racks.
" length of 130 m and 110 m run on parallsl ! pposite direction at thej,

directj . ing in O

rectlon. faSler train cross slower one in 20 sec. Whllc runnlng n o .
S ramn.
peed lhey pass each other Complctely in 12 sec. [«'ind Spccd of eac

ERGRE LR
(A)%O m/s, 20 m/s
(B)MG m/s, 4 m/s

(C) 20 m/s, 8 m/s

(D) 15 m/s, 27 m/s

N

A batsman has a definite average for 11 innings. That batsman score 120 runs in his 12t inning
duedq which his average increased by 5 runs. Accordingly, what is the average of the batsman

afteryd2 innings ?
Qﬂi(;%'ﬂﬁl (batsman) @t 11 3Fima & Frfyaa ofea ¥ 1| ow aootam 124 =¥ & 120 @& &1 @1

fepa Rorads @1 Sud! ahed & 5 @ @ gfe g | T A W 12 3P % wyarg v @ @ ot
¥ ?

(A) Nés (B) 60
(C)=t70 D) 72
N
o)

00 _
A bagman scored 125 runs which included 5 boundaries and 6 gjiye Wh

t
d he made by running b/w the wickets ? Al percent of the total

score di

@W%IZSﬁW@TWWSWﬂGWWQI

afgra fadl % wea dgwt W e R
N 5
o

(C)?gss%% R

16
(2
2B
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Q. No. (66-70)
study the following information carefully and answer the questions below :

Following are the conditions for selecting an “I_T_ Officer in an organization.

The candidate must - ~
(i) bea B. E. / B. Tech. in IT or Computer Science with at least 60% marks.

(i) be at least 20 years and not more than dears as on 01-11-2016.
(iii) have secured at least 60% marks in writtem test.
(iv) have secured at least 40% marks in interview.

e candidate who fulfills all conditions except -

In the case of th
ase be referred to as GM.

(a) at (i) above, but is a post graduate, his ¢
(b) at (iv) above, but has secured at least 35% marks in interview and at least 70%
marks in the written test, his case to be referred to as VP.

N

<

ae e (66 F 70) _ N
mwﬂmmmﬁm@nﬁmmgm:

wansh &~
(i) leWmﬁB.E.IB.Tech.ﬁm% 60°/oaia;ir=na_1@_'&|

(i) 01-11-2016 % i 7& 7% & &7 20 T F @ T 26 YA IfwE F A F |

(i) fafew whven 8 7 & % 60%] ot% W e AL
(iv) mmﬂﬁmﬂm@aﬂmﬁmﬂl g
o s % 6 o o o o o v ¥ o B — O
(a) m(ii)m,ﬁgﬂw@m*@cma:mmmmm,

(b) m(iv)w,%mﬁmﬁmm@mmﬁ D
e o %, e ¥ VP ¥ A0 W T R A | [ wH(10% 5

66~ Kumar was born on 19th March, 1995. He has secured 65% i
! ; d f marks in BE-I
t_SZ% marks in both written test and interview. Which of the following will beT. o secured
if Kumar applies ? % sourse of sotion

- N

(A) Kumar will be selected. (B) Datarinadequate to lakc'a decision
© K ill not b i '
3}_‘:“%::: :;él:o;gseﬁselectcd. FD) K@r will be referred as GM post.

13 : gan a7 | 8T BE-IT # 65% fd | 38 Rftae aliem wd wement
ﬁﬁg/ommm:uﬁwmﬁmﬁ ¥ et & Ry o & B 7
(A) U & TGF & T | (B) frfa & ¥g =1 arqnfey ¥ |
(C) A &1 TG 61 & | (D) FI&H GM & 91 3 fordr THT AT ST |

212 B
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. ch. and 70% marks
s in B. Tech.
6}/ Venkat was born on

7th o, mark
November 1989. He has secured 70% m
In his M. Tech. He

has 0 t i rv ie W.

i doat 3 lies ?
Which of the following will be a course of action if Venkat app
(A)  He wiy be selected.
(B)

(©)
(D)

Data inadequate o take a decision.

He wil not be selected.

He will be referred as Vp post.

i [ 70% 3
5 T 1989 S 41)1 3§ B. Tech. § 70% aie wrat fid Td M. Tech. & 70% aig
S ey e fafiag ,

¥ “ﬂwqﬁmmrza’mﬂms'%aﬁimﬁsﬂtl

u’f‘«i’mwﬁmmt,aﬁqwmawm(coumeofacﬁon)mmﬁrﬁ?
(A) STHT T4 B wriey |

(B) ﬁv’rqa%%gzmamhtl

©) s w7 T g

(D) SR VP Wz % frd Yo e e |

®8 Lata has secured 78% ma

rks in written test and 38% marks ip the interview, She secured 62%
" B. Tech-IT and was born on 12 Jan. 1991, Which of the following wily be a course of action
if Lata applies 9
(A)  She will be selected.

(B)  She will be offered Vp post.
(C)  She will not be selected,
(D)  She will be offered GM post.

mﬁhitqamﬂs%mmﬁ;&tamas%m

T § .
7 629 7 WIS R T T 1 12 sy 19g 1991 F gan o Wﬁ::f&r&t | I B. TechIT
& @ fa&‘(mul'sc of action) & & ¥y ?

(A)  SET T B s |
(B) ¥ VP& wre oy e & it |
(C) U I T gy |
(D) @omﬁmqﬁmam|
18
212 B

Downloaded from www.cclchapter.com IEP*‘“\’



W Disha was born on 26th July 1991. She did her graduatio

; = .. - n
science. Which condition/s below will lead to her selected u: '::epg”""“‘“"
68% in graduation. e

ation i
tion in computer

(i) She sect red

(i) She secured 65% in M.E.

(iii) She secured 63% marks in written test and 74% marks in interview.
(A) Both (i) and (iD) (B) (iii) Only
©) Only (D) Both (ii) and (iii)
f&?ﬂﬁa’-‘-"l%gﬁﬁ‘ 1991 @ §aT &1 lmmmﬁﬁﬁwmsﬁmmﬂmm‘
ﬁﬁﬁﬂaﬁﬂiﬁsﬁwcm%mﬂwﬁﬁﬁ#aﬁaﬂtﬁaﬁ!ﬁ ?

(i) aﬁmﬁﬁ&%aﬁwﬂg [

(ii) ™M E.ﬁ‘éS%eiﬁmgq [

(iii) aﬂﬁ«ﬂﬁﬁuﬂmﬁ&%aﬁaﬂlmﬂrﬁﬂﬁ%%aﬁmg [
@) (i) T 3l @) fad (i) |
©) fad () (D) (i) 3T (iii) 2

pleted B. Tech. in IT in the year 2012. Which condition(s) below will lead to her

79~ Meghna com
IT officer ?

selected as the
(i) She secured 65%

(i) She was born on 4th Nov. 1990.

(iii) She secured 50% marks in interview.

(A) Both (i) and (ii})

(B) Both (ii) and (iii)

(C) Both (i) and (i)

(D) Data providcd are inadequate

frerm & @ 2012 % IT 4 B. Tech. gu far |

a3 & o emE sh 7
(1) E‘Hetfaﬁmtrﬂmﬁﬁ%aiﬁ
(i) wEE T 4 T 1990 @1 gam 41 |
(i) @ maT # 50% o Wi §S |

(A) (i) ST (iii) 2l

(@) (ii) ofrT (iii) Al

© (i) e (i) &

(D) ﬁﬁn&mﬁﬂazﬁ%@mt |

212 B 19
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71

S .
t::;?.'er.“ = Gokul is the only son of Suresh and Ranl.
Usions . [(l) Suresh and Rani have one son.
(1) Gokul has one sister.
Choose the correc oy
t concl ion 1l is valid
(A)  Only conciusionnf iL;SI\?;id (B) Only condus;:::ioln Il or 11 is valid
(C)  Either conclusion 1 or 11 is valid (D) Neither conc
g SO T 04 31 g e
"D A T 1 ¥ v v b
D) Mew & o= aew & 4
g
(A) ﬁﬂfsﬁﬁi\‘il‘&utl .. (B) ﬁ'ﬁif-‘{ﬁiﬁllaﬂtlﬂtl
© R R (D) = @ Pred 19 & 11
doayes invited.her three friends to her house. While watching  live cricket match, they

decided to org

er Pizza. In between the overs, the phone number of a pizza shop flashes briefly
and they al| ¢

: Iy to remember it and tried to recollect the numbers as listed below.
(l) All the four have agreed that the first three numbers are 421.

(") Two of them agree that the fourth number is 9.
(i)  Two of them said that the fifth number is 6.

4 (iv) Three of them agree that the sixth and seventh numbers are 8 and 6.
ich of the number s most likel

Y the telephone number of pizza shop ?
Hﬂﬁt%maﬂﬁsﬁaﬁmﬁmwaﬁmt | B2 &1 arda yam ded ¥ v, R G
?“ﬁi‘(ﬂéﬁwﬁmﬁﬁm |aﬂaﬁ%ﬁaﬁ.ﬁwnaﬁvw®ﬂﬁﬂmﬂﬁf & fog wer @ ¥ oin

(i) = & & vowa & B o w0 % |
(i) 37 & 2 3 wwr s v wem 6 ¢ |

(A) 4219668 (B) 4219696
(C) 4219686 (D) 4218686
According to John Bransford and Ba Stein, the steps i : ‘s 1
(P)  Exploring possible stratcgr;.gs o SR In decision making are
(Q) Defining and representing the problem
(R) Identifying the problem
(S) Looking back and evaluatin
(T) Acting on strategies
The correct order of the above steps will be -
mmﬁ@ﬂ@%m,mmﬁ@mtﬁ
(P) uwifed ETa womm ¢
(Q e @t o wet wegq aem —
(R) ¥HE B T HEN
(S) FA T FEBA &y gy i woe;
FrdaTéy

g the effects of one's activities

(ﬂ‘ﬁ %1 wE ﬁ’,’r')‘ &
R), (Q), (P), (8), ( ) R), Q) ), (1), (g
Eé)) ga). (S), (Q), (P) (T) @) ®), (s), (1), (P)), ((Q;

20
212 B
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Directions for the following 8 (eight) questions no. 74 to 81

d on lhc i' ” i s
owin i . h
B passage in ".l'l[._!,“ﬂh o1 h
est the co
(8] mprehensio
n

g8 questions are base
these questions do not have Hindi Versi
*rsion,

The followin
and therefore

of EI‘IBIISh Lﬁl‘lgllagf
i (6. 74 @ 81) ¥ e T

ﬁ'ﬁﬁiﬁﬁqﬁﬂhﬂeﬂuﬁﬂﬂaﬁmﬂméﬁﬂmeﬁqﬁmtmt
¥

se’s way and nobody would get anywhere. Individual

Everybody would be getting in everybody €
Jays like the old lady with the basket, and it is just as well to remind ourselves of what the rule of
th;- road means. It means that in order that the liberties of all may be preserved. the liberties of
When the policeman, say, at piccadilly s_:;c,us. steps into the middle of
tyranny, but of liberty- You may not think so.

everybody must be curtailed.
the road and puts out his hands, he is the WL,_)
nd seeing your car pulled up by his solence of office, feel that your
ur free use of the public highway 7"

a hurry, @
“How dare this fellow inte

rfere with you, he would

aelstrom that you

e person, you will reflect t

e result would be that piccadilly
curtailment of private liberty i

is a danger of the world

rfere with yo
hat if he did not inte

circus would be a m
n order that you may

You, may being in
liberty. has been outraged.

Then. if you ar¢ @ reasonabl

interfere with no one, and th
|. You have submitted to @

would never Cross at al
reality.

enjoy a social order which your liberty a

relates to the word “Lawlessness™ ?
-..-.—-—--"L-'— ’

74 From option given below which word closely

(A) liberty
(B) anarchy
(C) reasonable

(D) preserved

76  Which statement describes the word “Reduced” 7
S— i

The liberties for everybody must be curtailed.

(A)
(B) Liberties of all may be preserved.
(C) Individual liberty would have become social anarchy.

(D) You may enjoy @ social order which your liberty a reality.

212_B 21
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pbelow.
€
. ntenc
en s€
m g1v
” ord fro
/ Fmd the CIOSeSt synonyms of the undel'llned w

He i the sympg| not of tyranny but of liberty.

(A) Monarchy
(B) Autocracy
(C) Democracy
D)  None of these
7/ Find the noun from the given options based on provided sente:;ztmm that you would Never
"o the resylg Would be that piccadilly circus would be a < e
Cross at g »
(A) Piccadilly
B)  circug
(©)

maelstrom
Dy ap of aboye

78 Find the closest antonym of the underlined word from given sentence.
The liberties of all may pe preserved.
(A) Undecomposed
(B)  Unpolluteq
(©) Decomposed
(D) Maintaineq

79 Select the correct Options that best describe the followmg Statemen,
Crossing €veryone path May not leed g anywhere
(A) Everybody would be getting in cverybody elges Way ang bod
(B) Individual liberty woulq have become Social Stabil; ¥ Wonkd 8% anywhere
(C) Preservmg liberties of €verybody must be Curtajleq
(D)  None of the above

80

on pr Vided ge tene
feel that your liberty has been Outraged,»
(A) feel
(B) liberty
(C) outrageqd
(D) been

81  Find the opposite of (he word “Wiglegs» from the given OPtiong,
(A) anarchy
(B) curtailed
(C) reasonable
(D) insolence

22
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Q. No. (82 - 89
For a job in 2 company, a candidate must fulfill the following criter
erin =

Age should be from 24 to 30 as on 15th Feb 2021.

Must have secured atleast 58% in B. Sc. Maths.
graduate in Maths or Statistics with at least 65% mark
< /0 MArks.,

f at least 2 years.
test and 50% in the interview.

-

Must have done post

Must have an experience 0
Must have secured 60% in written

-—
-—

-_—

mﬁm(Sza“)
sﬁaﬁﬁﬂﬁfﬂﬂmﬁlqﬁﬁmm%

ﬂiﬁtﬁlﬁm (job) ¥ ¥
lSmﬂ'&ZOZl%maﬂuﬁ.‘mzﬁmﬁﬂl
B.Sc.nﬁmiimﬂmss%aia:afﬁhﬁmmaml
mﬁﬂﬁ%aiﬁ%mﬂﬁmmwifmﬂﬁﬁmﬂmﬁﬁl
mamza&fwa—jﬂammﬂi
mqﬂmﬁﬁn%qémmnﬁso%mimzﬁmﬁﬁl

-_—
-
_—

bove criteria, then which of the following criterion / criteria is not

82 Yogesh fulfills all the a
essential for selection ?
(i) He was born on 15t June 1992.

(ii) He completed his graduation with 66%
(iii) He has worked for 3 years in MNO company.
(iv) He secured 65% in post-graduation in maths.

(v) He got 60% in written test and 60% in the interview.

(A) (iii) Only
(B) (i), (ii), (iii) and (iv) Only

(C) (), (i), (iii), (iv) and (v) All
(D) Even with all given information, he will not be selected.

ﬁmﬁmmmﬁwmt.mﬁqmmﬁﬁmmm(sclcc!ion)%‘g

ferard # ¥ 7
(i) @@ TH 1 5 1992 &1 Ea 41 |
(if) '\;::::;?ﬁ % @g @ad @ gy (graduation) quf &) ud 12 4 we A 75% 3iE
(iii) mﬁwMNomﬂMmmfaﬂt |
(iv) Tfora # ATEE (post-graduation) ¥ T8A 65% o sifda fsa |
v) 5@ fefaa whan & 60% it wnarhrt ¥ 60% sid 9 gu |
(A) fd (i) '
@) fad () (i) (i) ot (iv)
©) @ (@) (i), (iii), (iv) ST (v)

(D) aﬁwmﬁ%mawmwmm.
-

212_B
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..+ is not essential
. . riterion / critert®
83 Vijay fulfills all the above criteria, then which of the following gHien

for selection ?

(i)  He has worked in a company for 4 years. .
(i) He got 70% in B. Sc. Maths and 68% M- $c. Statistics:

(iii) He secured 60% in written test and 54%£ interview.

(iv) He was born on 31 July 1994. o)

(v) His score in class 12 was 85%. 0
(A) (i) only o @ b only
(C) (v) only (D) (iii) and (iv) only
ﬁwmﬂﬁmﬂmﬁﬂﬁ{ﬁmt,mﬁﬂmmﬁﬁﬁhmm(selection)%g

afrard w & & ?
(i) <& U@ &oh A 4 9w s e ¥ o
(ii) mB.Sc.nﬁmffm%an.Sc.aiﬂmﬁﬁﬁs%aiﬁmﬁs&|
(iii) m&mmﬂieo%qammifs@mmmu

(iv) <g&1 5 3 e 1994 @1 g | 0
(v) 12 @e ¥ IE&1 @iT 85% o1 | ™
(A) fa& (i) (B) fad (ii)
(©) fd (v) (D) fads (iii) o (iv)

84 . Aradhana fulfills all the above criteria, then which oMc following criterion / criteria is ve
much essential for selection. " s very

(i)  She scored 85% in class 12. N

(i) Her age was 26 and got experience in a %npany for 3 years.

(iii) She completed B. Sc. Maths with 59% apdyM. Sc. Maths with 66%
(iv) Her score in interview was 54% and in written test it ywqq 68%. ‘

(A) (i), (ii) and (iii) Only (B) (i), (iii) and (iv) On|

) () (i), (iii) and (iv) Only (D) (i), (iii) ang (iv) Onlyy
mmwmaﬁwmamﬁqnmm ", |
qaasas & g e (selection) ¥q

() Tw 128 @ d 85% w e |
(i) m:m%ﬂmmqaim#3mwmm |
(iiiy A B. Sc. T 59% ofw & W qw M.%, T 6% i
(i) e @I AT ¥ 54% wd ffen when & 6804 o | Y g fam |
) ol O @ B B G, iy ot (i
© fb @ @ (i) ot (V) (D) R G, (iii) o (iv)
24
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d the passage and choose the most appropriate option : (Q. No. 8
H . 0. g to 88)

f Education is a label applied to the study of the purpos,
d h i : €, process, natur i
ered a branch of both, philosophy and educati -
J Srree o . ' 1on. Education can be
g of specific skill an the importing of knowledge, Jud n
tutions of education we often sszzqcn;and
of.

Rea

Philosophy ©
n. it can be consi
hing and learnin
broader than t

of educatio
defined as the teac
om. and is something

jonalists consider% we
ful. But philosophers dating

f the real world to be
he area much thogght and emphasis, and there is
cation over the milennia.

thinker; and education is an essential element in
phy and political theory, written around 360 B.C.)
removing children from their mother’s care and
e to the various castes, the
and care for the

he societal insti

ak and woolly field, too far removed from the practical
ca
back to Plato and the Ancient

little doubt that their work has

wisd
Many educat
applicalion o

Greeks have given t
helped shape the practice of edu
est important educational
k on philoso

methods :
differentiating children suitabl
that they could act as guardians of the city
ould be holistic, including facts. skills, physical discipline,
t distributed genetically and thus is be
stem of selective public education for

Plato is the earli
“The Republic” (his most important wor
In it he advocates some rather extreme

g them as wards of the state, and

raisin
S

highest receiving the most education

less able. He believed that educationsh
eved the talénd and intelligence is no

sQithough his proposed sy
does not really follow a democratic model.

Aristotle considered human nature, habit and reason to be equally important forces to be cultivated
should be to produce good and virtuous citizens. He proposed

hat repetition be used as a key tool to develop
their own ideas.

music and art. Plato beli
found in children born to all classe
an educated minority of the populati

in education, the ultimate aim of which

that teachers lead their students systematically and t
good habits, unlike Socrates’ emphasis on questioning his listeners to bring out
He emphasized the balancing of the {hebretical and practical aspects of subjects taught, among which
writing, mathematics, music, physical education, litt;rature gh‘JiZtcl)cl:'y

the explicitly mentions reading,
s play, which he also considered important

and a wide range of sciences, as weﬁ
s al-:rl:g [l;l: :::d;:t:{ p:rlod, :@Qea of perennialism was first formulated by st, Thomas Aquinas
o impom"gcc e .a”crcnnnla ism holds that one shoul-d teach those things deemed to be of
oo e st pfzop e everywhere, namely principles and reasoning, not JUS* facts
i g g er 1'm.1e). afnd that one should teach first aboyt le. not machines or
e o ginally religious in nature, and it was onl FERESS

nnialism developed. N Y much |ater that a theory ¢

f secular

a5 ON€ of the

During the Renai <7
oo ol ook :sance. the frepgh skeptic Michel de Montajgne (1533 1592) W
. e -
“nventional wisdom of ;dUCauon. Unusually for this time, Mona; was willing to gestion the
of the period dalling i : igne
g into question the w . riondl system,
hole edifice of the educa uncducated

ﬂnd Ih'e . .
implicit assumpti
PliOn lh . . .
at unw&@ryeducatcd philosophers were necessarily Wiser

f;
M workers, for example
22 8

25
Downloaded from www.cclchapter.com

fi



P Wl 1 W she s e feen a1 e i ¢ (e o 85 9 89
3 fp foren fafire Bhom

e

R 23 s T (vaw) & <t s e % sde, s, st ol A
ﬁﬁﬁh?ﬂﬁaﬂ?&mﬁ%mwwmmt |ﬁ1maﬁmmmmm .
ﬁfﬁm@‘mm@m,mmwwmmﬁmmt'wm

& 7
L rraeem————e———= LU

T ¥ | e et e s s P 3 g d o e T T e T T G D
t 5 oTh o ¥ weenfe ¥ dvm R % onare @) s 34§ g @ |

w2t urifves s & Wy et e §, Rl R R (aammqammmiawmﬁwm
TEat Bh S B {5 360 ©f ¥ smawe fordh ) ¥ R @ vw O d a9 1

o 3 3B Faud IO Il @ gEEE B ¥ awd @ o qa @ e § g0 @, ¢d T & A
& AT O O qaR @, fafi st & dr gt @ i s, ge e @ geaaw Wit s, s
% 3 T & AfirTas % w9 ¥ S BT 9% U FAGT 9 ) G S | T fagarg o s fren el e
gfea, @tew, smiifite semes, @i vd & & f aFr Tty |

%wmm%uﬁmqﬁg&wﬁ&mmﬁﬁaﬁﬂ?ﬁ%aﬁtwmmﬂmﬁﬁﬁﬁﬁﬁm{
W %, Fafy SEen % srders i & fod wafa wrdwte e & e o deatse ated @

H FgE T HE |
aﬂq%qﬁaﬁﬂw,W@Wﬁﬂmﬁwiﬁmméwmtﬁﬂmdﬁmmaﬁ
gy s iR 2 sk e s R et e e B T Bt S ey i &

@mmmmmwmmﬂﬂ@'%mammm
& % o AT @ v @ & fg wel o e R Rl gavr @ s sivanai

R O T A e 5 o 3 S TG & S 2 o, e .
z.‘ﬂﬁnﬂm,@ﬂa,snﬁﬁaafsrm,m.ﬁm@m*wm,@mﬁ%ﬁﬁwﬁmﬁw’

qegT % A, e (perennialisnn)a?rmmmuqm% SEEe A |
qfatrmﬂgaﬂlWﬁWﬁW%ﬁﬁﬁﬁﬁﬂ’WﬁW&&ﬁ&wm%ﬁm'ﬁw.ﬁ
ma_ﬂﬁfﬁﬂ#@mwm,%ﬂaamwﬁ(ﬁﬁmﬁmqm%mtqqlﬂﬁm%ﬁ&m
ﬁmmﬁmﬁaa%qsﬁwmm%aﬁmm%m;%m’ )Fﬁaﬂummﬁ % it
¢ % are fefa g ii"%wmm
Zrera, e daraard) wgde fé = (153341597, Wy

N

qﬁﬁﬁaaawﬁﬁmﬁzﬁ%mm%h &mﬁm
“@“W&mm;mwawmmm&mm“%m@ T Wheers

26

P
Downloaded from www.cclchapter.com



en the approaches ol Socrat
byt : ¢S an s

ITC“IIUII o dl:\!clup pood h!ll::ll A.n“"llc 7

juestioned. S

What is the difference betwe
(A) Aristotle felt the need for re

students Nee to be constantly ¢
Aristotle felt that need for rote-
There was ho
Aristotle emp

(B)
(€)
D)

hasized on th

@ HT .
ffam i 4 ot o R
j -ﬁmwmciﬁrmmaﬁﬂl
®) s @ mﬁ.w%WWmW%.
(C)
(D)

Why do edu
(A) It is not pra

cationists consider P
ctically applicable.
B) Its theoretical concept are easi
) It is irrelevant for education.
(D) None of the above.

(@)
(D)

What do you understand by th
which is of ceaseless important.

(B) It refers to some thing which is quite unnecessary.

(C) It refers to some thing which is abstract and theoretical.

(D) It refers to some thing which is existed in the past and no longer exists now.
ialism) & ong &1 T ¥ 7

e A wRee & g # TR (perennialism
ﬁzﬁﬂmﬁltﬁﬂﬁiﬁm%ﬁaﬁtl

(B) wwﬁéﬁaaﬁﬂﬁam%aﬁfmmmﬁawtl
a’lﬁsarqﬁaﬂtéaiﬁmtl

e term ‘percnnialism’ in the

87
passage ?
(A) It refers to some thing

(€) uE 78 ¢ 4 @ walda & &
ﬁﬁi{éﬁaﬁﬂﬁﬁzﬁ@mmﬁaﬁlﬁ?ﬁ%l

(D) ﬂ!maﬂﬁmaﬁmm%

88  What )
A) ::yb‘:l‘;;ie?ﬁfaf bleli'::f;;l about democratic education ?
: that only the rich h i i :
Eg; :}: z:fc""-d in democratic educz:it‘;{:):nlhe L s
leved )
(D) He believ:d that only a select few are meant to attend
wepaitaa e & that all pupils are not talented R
(A) mmmgﬁﬁﬁw“ﬂ'ﬂm? |
®) WWWTWﬁﬁmm'mm
T —_ &l et & |

€) w7
T 5 W g e # gt & o T E

Itllllllllg' ‘.( o | bl O b 4
s & w nl'-.'ﬁ Ll‘lphn.‘il[t(l on ‘i
{ ll'll r‘|- l
E,L carn
Ig'

i § @ @ T
context of the given comprehe

studer S
W4, Socrates felt that

difference.
o importance of paying attention to human n
alure; S
v wrates

emphasized upon science-
syl & " T Rrdg ¥ 7 -
H D Tﬂla?"i # 7w ¥, gHETA 3 e
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Directions for the following 4 (four) questions no. 89 to 92 ‘:n
he fo”.owi“g 4 questions are based on the following passage IHincli Version.
of English Language and therefore these questions do not have PP
4 () weiehi (5. 89 & 92) % fom fdan : Sfich s 3 e & T
4 Wi st % Preafirfae wfebs o omafa ¥ ofC
Wﬂtsﬂuaﬂ"raﬁwiﬁtmw@fﬁmmmti

with her
ntists in history. Together .
Marie Curie was one of the most accomplished scientists In t:-leatinr; cancer, and studied
husband, Pierre, she discovered radium, an element widely used for

i ter helped
‘ YR - |laboration la
uranium and other radioactive substances. Pierre and Marie’s amicable co
10 unlock the secrets of the atom.

prehension

sor of physics,
Marie was bomn in 1867 in Warsaw, Poland, where her father was a profes

; : at exuberance for
Atan early age, she displayed a brilliant mind and a blithe personality. Her gre
1eaming pr

: ; came disgruntled,
ompted her to continue with her studies after high school. She been Determined to
however, when she learned that the university in Warsaw was closed to women.

: French
receive a higher education, she defiantly left Poland and in 1891 entered the Sorbonne, a
University,

where she earned her Master’s degree and doctorate in physics. M
Marie was fortunate to have studied at the Sorbonne with some of the greatest scientists of
her day, one of whom was Pierre Curie. Marie and Pierre were married in 1895 and spent many
productive years working together in the physics laboratory. A short time after they discovered

radium, Pierre was killed by a horse-drawn wagon in 1906. Marie was stunned by this horrible

misfortune and she endur breaking anguish. Despondently, she recalled their close
relationship and the joy that they had

ed heart-
shared in scientific research. The fact that she had two young
daughters to raise by herself, greatly increased her distress.

89 The Curies

collaboration helped to unlock the secrets

; of

(A) friendly (B) Competitiye e tom,

(C) courteous (D) industrioyg
90  Marie had a bright ming ang 4 personality,

(A) strong B) i ght-hcarted

(C) humorous (D) strange
91  When she learned that she ¢qy4 not attend the university i, W

(A) hopcleSS (B) ann()),ed arsaw| She fElt

(C) depressed (D) Worrieq /gy
o Made byhle?tving Poland and trave!ling to Franc

r
(A) challcngfd authority (B) ShOWe: im Shter the Orbg
(C) behave (D) Was distr:;ﬂhge nne
seqd

212 B .

Downloaded from www.cclchapter.com



pirections for the following 4 (four) questions no. 93 to 96 .
The following 4 questions are based on the following passage L
of English Language and therefore these questions do not have '_“ndgi n;::':, test the com
4 (Eﬂ') P PRIEL (H 93 A 96) ¥ foro fder ¢ sion, pPrehension
ﬁqﬂ.rfha4usmrafaﬁﬂésﬁmﬁrfmqﬁ?éﬁﬂmmﬂﬂtmmw*m%ﬁ
, -'mﬁmwﬁﬁmmmtl ™ o ¥ |
g of the small Greek democ.racy. of Athen§ over the mighty Persian Em-.
490 B.C.. is 0n€ of the mos'l famous events 10 l:stog. [l)(arl(u:s:; K.];tga:)f t'he Persian Emp-,::,rcw:,s
furious because Athens had interceded for the other Greek - L1ty es in revolt against Persian
domination. In anger: an enormous army 10 defeat Athens. He thought it would take
i : ify the rebellious part of the empire. N
dmsui’::igts;}aspraﬁlefz by one man. In Athens, all zens helped to n:lle. Ennobled by
i . i oation, Athenians Were preparcd to die for their city-state. l?{erhaps this was Fhe secret
e el which freed them from Persian rule. On their way to
have come in peace.

the remarkable victory of Marathon, m Per:
r(::arafhon the Persian ty - states by claiming to
» ting to abet the conquest of

s tried to fool some Greek ci
i iti 1 is. Not wan
The frightened citizens of Delos refused to believe thl_s. : .
Greece. they fled from their city and did not return until the Persians had left. They were wise,
for the Persians next conquered

the city of Eritrea and captured its people. : :
Tiny Athens stood alone against Persia. The Athenian people went to their sanctuaries. There
they prayed for deliverance. They asked their g

ods to expedite their victory. The Athenians refurbished
their weapons and moved to the plain of Marathon, where their little band would meet the Persians.
At the last moment, soldiers from Plataea rei

nforced the Athenian troops.
The Athenian army attacked, and Greek citizens fought bravely. The power of the mighty
persians was offset by the love that the Athenians had for their city. A

thenians defeated the
Persians in both archery and hand combat. Greek soldiers seize

d Persian ships and burned them,
and the Persians fled in terror. Herodotus, a famous historian, reports that 6,400 Persians died,
compared to only 192 Athenians.

93  Athens had the other Greek City - States against the Persians.

(A) refused help to

(B) intervened on behalf of
(C) wanted to fight

(D) given orders for all to fight

94  Darius took drastic s
teps t . .
). ke psto__ the ret(JeBl)llou: Athenians.
(C) calm estroy
(D) irritate

9 . .
S Their participation to the Atheni
nians.

(A) gave comfort
(€) gave strength (B) gave honour
(D) gave fe
ar

%
The people of D :
(A) end elos did not want to the ¢
—_— onquest of Greece.

(C) think a
212 bout (B) €ncourage
B (D) daydream about

5
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100)
ing first-past-the-
the Anglo-Indian

il 0. 97 t0
Read the Passage and choose the most appropriate option : Q- N .
¢ constituencies o

The 543 elected MPs will be elected from Siﬂgle'membe bers from

POSt voting. The President of India nominates an additional two mem
Community, if pe believes the community is under-represented. _

Eligible voters must be Indian citizens, 18 or older, an ordinary resident Of.the pollmg a?‘ea
of the constituency and possess a valid voter i’dentiﬁcation card issued by the Election Commission
of India. Some people convicted of electoral or other offences are barred from VOUDNg.

Earlier, there were speculations that the Present Government might advance the 2019 general
clcctfon to counter the anti-incumbency factor, however learning from its past blunder of preponing
election made by the Earlier Government, was decided to go into election as per the normal
schedule which was announced by Election Commission of India (ECI) on 10 March 2019, after
which Model Code of Conduct was applied with immediate effect.

g fa (anti-incumbency) a3 ¥ 9 T amy

x:{mf@ (blmder)ﬂmaag“mmwéw "‘“"‘mmﬂﬁm%qﬁ
s it mtmmmloqﬁzmgaﬁ;ﬁﬁmq Iilia_iqmwmam
97  Which
- ic *.word or phrase means “disapproval of current
(A)  First - pagt . ghe . post Politica) Iceholq
(©) Aﬂﬁ'incumbcncy (B) Blunder 1l the passage ?
o ¥ 3 3 | D) Mog
o o ¥ = W g g EL - W" ¢l Code of Cong
8-t R utt
(©) R (68 gy . UL PO
) o g
98 Since when was the Mode| Code
of
(A) 23 May 2018 Conduct appleg With ;
(C) 10% March 2018 ®) gy, diate ol
’ _ a
gt TR HE B GE T gy d ©) 1w Mal‘ch 20]9
y
(A) 2372018 i g
© 10742018 ®) 10 g
212 B ®
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T—

dent of [ndia nominate an additional two members

Presi from ¢
he !\ngln-‘m\_
Vo,

g9 When does the
CommUﬂity ?
A) when the .. fails to send & representative

543 elected MPs

Indian Community is under-represeneq
n Community IS over-represented

jeves that the Anglo-!ndia
aftrg w@ ¥ 7

affe @@l PP

. -
100 What are the mandatory requirements t0 vote in India

(i) Must be an Indian citizen

(ii) Must be 18 or older
Must have a valid criminal record

(iii)
ordinary resident of the polling area of the constituency

(iv) Must be an
Must posses a valid voter identification card issued by the Election Commission

v)
of India.
Choose the correct options :
(A) (i), (i), (iii) B) (i), (i), (v), (iv)
(C) (i), (iii), (i), (iv), (v) (D) (i), (iii), (iv), (v)
» (] s v

S7a | 9aeH &1 & o sftes od st ¥ 7
(i) wrEE A 6
(i) 18 @1 THE afus 39 #
(iii) &y svaius freré 6

uh fase gfa ey
. LEILEF | YTy
“\} (.}v (il)l (iil) ﬁ
212 g ®) G, Giigy oo 5
3l ’ (IIJ)‘ (IV)

'(V)
W‘
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